TH2-34: AT SFATelTell US ad BT
M2-R4: INTERNET TECHNOLOGY & WEB DESIGN

9 03 o<
DURATION: 03 Hours

AT o
Roll No.:

qereft #1 AT

FI®WFaA 3+ 100
MAXIMUM MARKS: 100

MTHIR ol 4.
OMR Sheet No.:

- §.:

Answer Sheet No.:

: qdrerreff & gEamErR:

Name of Candidate:

; Signature of candidate:

wianfiat & fow e

Instructions for Candidate:

FIAT TRA-GRAH, HTANR ofic vd sE-gReasr § f&d v et
F el qde I3

Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.

GRA-qRET o RS va 3eh A gl odemdt e o weR
AT T TIT B TheT g1 (37U, I1 ar Bedr I 373rsh)

Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.
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PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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T Udh / PART ONE

(Q:Pﬁ U B IR ?{) / (Answer all the questions)

1. TS Y & SNl & dy [ddeq 4 Iy MU
g TG 9 I e g RS9
frefale feal & FER U u3 & 91
SUEl FRIY MY “INTHRIR SR TFd H ol
| (1x10)
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein. (1x10)

11 B ®

A) TR IEE R Hedtd

B) T PYR W Pl & FEIRYT 2] D
RIS Hriae

C) IR ST Ylclaldl

D) G SR Urds | & ARG W goR 6l
BIEEaE
FTPis

A) Server side encryption protocol

B) Control connection to remote computer to
transfer files

03] User Datagram Protocol.

D) Authorization of a user through login and
password verification.

1.2 Follgc 5S UdRICIMY

A) TR R g 2! Repbe H FRIeHAT BT e

B) ok YR W ddl & Repe d Serwar ol
KLl

) TeId a9 W 9d & e § prigwar o
Sl

D) BRIRATA fSa3d W 9 Y81 Repe # Prierar
CARSISE|
Client-side extensions:

A) Add functionality to the script running on
Server.

B) Add functionality to the script running on user
Computer.

C) Add functionality to the script running on
network devices

D) Add functionality to the script running on
firewall devices
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13

A)
B)
C)
D)

A)
B)
0
D)

1.4

A)

C)
D)

15
A)
B)
©)
D)

A)
B)
C)
D)

1.6

A)
B)
C)
D)

A)
B)
C)
D)

HYR Bl TC W WS B Y, D
e | el W @

FAG A IS

EAGHARI I

gexic 0aT Yer

SfeatlRad # & o8 el

To join on the Internet, the computer has to be
connected through the

Internet architecture board

Internet society

Internet service provider

none of the mentioned

B G GIeThicl gevic § Tollse ¥ Hidc b

T foIU W TSH WIS @Rl 87 / Which

protocol assigns IP address to the client
connected in the Internet?

DHCP

IP

TCP

Telnet

SRR BT 31 ©
3o Relcs d¢

gexe Ret de

gexe Relcs dee
gexrie Ramega dcc
IRC stands for

Internet Related Chat
Internet Relay Chat
Internet Related Content
Internet Reliable Content

............. U faRre el @1 3@l & W e¥ic
B FYRX F GG PR DI UEIH AT B |

TG AT $YCX BT UF Ie¥c Tgd Bl
gl

ERIGH

gexIe WeTdid

gevie Ugd

TREITE T

An is a series of unique numbers that
identifies a computer connected to the Internet.
Every computer that gets online has an
Internet address.

Ethernet

Internet Protocol
Internet Address
Extranet Address
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17  3oNIcS Afd BR feRed ead (MeTssivd)
e U 9 fSied TERT & fol WER
AN FT e § -

A) SIEN]

B) dfed

) s

D)  SWEd al
Integrated Services for Digital Network (ISDN)
is a set of communication standards for
simultaneous digital transmission of:

A) voice

B) video

C) data

D) All of the above

18  HTML H TEWf® 9 IRMNT axd 2 o
98 U& <Y UGl H 3T B / How to define
hyperlink to open in New Page in HTML

A) <a href="http://www.aiims.edu”
target="Blank”>Click Here</a>

B) <a href="http://www.aiims.edu”
target="_Blank”>Click Here</a>

C) <a href="http://www.aiims.edu”
target="#Blank”>Click Here</a>

D) <a href="http://www.aiims.edu”
target="New”>Click Here</a>

1.9 qqage @1 31 B 1 / Website means:

A) URL + Web Space + HTML Content

B) URL + Web Space + Name Resolution

C) URL + Web Space + Name Resolution + HTML
Content

D) HTML Content + Web Space + Name Resolution

110 TRRAT 99 Wgc W e [hal ofidl & el
2 € e @ise @f . & BT H S
T £ |

A) A Wgc

B) T wiEe

C)  WRRA GRS

p)  fh@R gRe
A firewall is installed at the point where the
secure internal network and un-trusted external
network meet which point is known as

A) Choke point

B) Meeting point

C) Firewall point

D) Secure point
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21
22

2.3

24
25
26

2.7

2.8
29

2.10

21
2.2

2.3
24
2.5
2.6
2.7
2.8
29

2.10

e Ry MU gRS faaRr a1 dF W A AN B
Ueh a4 I0A fdbed g SR IY Frfered

[ @ AR YR UF & A1 IUAY IR Y
"HTHIR IR T3F § Tof BN | (1x10)

HTML ¢ &9 Jdg-eid (case sensitive) g
THTSURE (MIME) @ 31§ Aedl U
gexe Aol Uadey i |

3% 3R Wids e Sl deNEe R hdd U
B TG B o0 SYINT BT ST AT 2 |
R g2 B U9 R 999 WH & oY 2|
$-Hdl TR MR W T6 WA 8|

J9 FT9OR 3c¥Ic W AfhT dRd THI 3]
TITATE BT AT <l |

&1 Sl § dedd T el @1 e
gl & Wl 9l dise ¢ ufse e gN U
TAree U H ST &I & |

THUAeHY (smTP) BT fWiee TIc 25 2 |
TFAEC g8 R 96 — U8 3R IR IEs W
e — TS Pls X ol 2|

T (ATM) TERU O @ AW H
Jfemfed ok 729 2|

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer
sheet supplied with the question paper,
following instructions therein. (1x10)

HTML Tags are case sensitive.

MIME stands for Multi-Program Internet Mail
Extensions.

The Back and Forward buttons can be used to
visit only pages from the same website.
Refresh button returns to home page.

E-mail is limited to text based messages.

Web browser lets you download while surfing
the Internet.

In the ring topology, the network consists of a
set of repeaters joined by point-to-point links in
a closed loop.

Default port of SMTP is 25.

Back-end code runs on Client side and front-
end on Server side.

ATM is Automatic Teller Machine in terms of
Transfer Mode.
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3 B X | QU T vl SR al & WaW diem v # U Y Fdcaw w6t o / vkl /o aran |
Y | I QY U el BT UTeld dRa gU AU fdhed U UF & W AU Y “AIVHAR IR T H
T B (1x10)
X v
31 |U& Ui ok UCdid Ol che @ U H §aR & gaer| A |gelagitid o
odl & |
32 |HIH3M oivdal B. [(n-1)/2
33 |9 TRE W Fridc WY Gl § n AGE dae dd @ forg| C. [n(n-1)12
RERIERIC:) [— gl
34  [3TTIC @1 SUINT IR Uigded IR Aiad # ATIR BT | D. |gahvce
35 |WR g REBeT ofidu E. |SraRspee
36 |UP JIMG Telioed & forg feoms fobam ar fody dwper 21| Fo [XML
37 o ST 3MYBT §e¥-ic W VA U el g | G. |Aedmifea
38 |39 TRE @ WY AN JAFGR B THIST &I UhAT &I dael| H- |[4ead Afbedar
ARG <ol GRT UG o FEhal 2 |
39 |7cd® UGl ... @ ®Y H G 7 | . |3eTie Rel de (3Meaes)
3.10 |faff~ Bcc BT BT GIo™ J. |DHCP
K. |qfdeq |k uaT (qua)
L. |gexIe |a1 YerT (meyal)
M. |ufhwe
4 Al QU T U ared | A < TS Rl 4 Ue v A1 919 Bl Wlell ¥ H Y | 9eY UG fdded
T 3R S FHfRad SFRel & SR U9 03 & &1 U Y “SITHeR” SR 05 H 701 fdded g
| (1x10)
A. | FTP B. | ARPANET C. | gfep
D. | gxRiRd Wisd E. a9 F. | grguifdT
G. | ¥d 3o H. CRIERSIES] l. Tgac Pl
R K- | Ryfea fohermmp! L. | dfu3
M. | aRmfcs frerml
41 DIYRTIA B ... el & fofy Suged & |
42 U BICI CaRC B3 & Wil 3T 31T 5—Hel AICH AT Yorc |l & AT W I Fohel @ |
43 -9l U R @ foly Uicidid 7S ¢ |
44 U € S Sl @ MdE Fias SR Red fore o forg SidRpic @ 99 @xd & oel dids
RINRILNY
45  VAIRSFE ... RepfeT ot 7 |
46 BT B AR ST BARMT ¥ SWIT b o € |
47 Uh ARMe Ube R "ead o ok Ueidld gee SRl /el & dRIfae & oy uger
eqd ¢ |
48 HRICR AR & ©Y H ST ST & |
49 U6 -cdd © ol W BIC & ¥, oM AR W UE 9ad A1 HaAl & IRl H HeR 3R I
f$arg T Fride AT B |
410 fpeerm®! & T ‘B Bl Sl B |l Bl Ui 3R fefbe o & g ST foham S &
difd I8 R w4 a1y |
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3.

Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 An application layer protocol that facilitates A. Electronic Commerce
communication in the form of text.
3.2 Markup Language. B. (n-1)/2
3.3 Number of links to connect n nodes in a fully C. n(n-1)/2
connected mesh topology is .
3.4 Trading in products or services using the Internet. D. Workstation
3.5 Server-side scripting language. E. JavaScript
3.6 A special computer designed for scientific applications. F. XML
3.7 that provides you with access to the G. Multimedia
Internet.
3.8 The process of encoding messages or information in H. Network Architecture
such a way that only authorized parties can read it.
3.9 Network topology is also referred as ..... l. Internet Relay Chat (IRC)
3.10 Combination of different content forms. J. DHCP
K. Active Server Pages (ASP)
L. Internet Service Provider (ISP)
M. Encryption
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. FTP B. ARPANET C. Hacking
D. Signature File E. Bus F. Hijacking
G. Search engines H. Client side l. Private Key
J. LAN K. Symmetric Cryptography L. POP3
M. Asymmetric Cryptography
4.1 Coaxial cable is suitable for topology.
4.2 A is a short text file you create to append at the end of your e-mail notes or Usenet messages.
4.3 is a standard protocol for receiving e-mail.
4.4 are programs that search documents for specified keywords and returns a list of the documents
where the keywords were found.
4.5 Javascript is a scripting language.
4.6 Control connection and Data Connection are used in
4.7 The was an early packet switching network and the first network to implement the protocol suite
TCP/IP.
4.8 is known as Computer crime.
4.9 A is a network that connects computers and other devices in a relatively small area, typically a
single building or a group of buildings.
4.10 is cryptography in which a pair of keys is used to encrypt and decrypt a message so that it
arrives securely.
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https://en.wikipedia.org/wiki/Application_layer
https://en.wikipedia.org/wiki/Trade
https://en.wikipedia.org/wiki/Internet
http://www.webopedia.com/TERM/P/program.html
http://www.webopedia.com/TERM/K/keyword.html
https://en.wikipedia.org/wiki/Packet_switching
https://en.wikipedia.org/wiki/TCP/IP

9T & / PART TWO
(33%' IR T BT IR 3) / (Answer any FOUR questions)

5.

a) ufectr ‘@1’ TRy (Public Key Cryptosystem)
AHEAM |

b) S TdT Tl & IC AT UH SR gl Bl
RreR 8 87

c) WAIRSFT  (JavaScript) AT (Java) & ¥
=1 / 31Tt &7

a) Explain the Public Key Cryptosystem.

b) How to know if you have been a victim of an Internet
attack?

C) How is JavaScript different from Java?

(5+5+5)
6.

a) TuREd (smTP), UMU3 (Pop3) 3R 3MEUATG!
(IMAP) @ ¥ fcR qaTy?

b) el Td g9 R 87

c) U g9 @ oIt Tacioad (HTmL) @re fored it

Name, Male/Female (Radio Button), Address, City
(drop down), Hobby (Check box) 3R submit TIT

Reset 9 dTel WIHR BT & |
a) Differentiate between SMTP, POP3 and IMAP?
b) What is a Meta Search Engine?
C) Write a HTML code to create a page which accepts

Name, Male/Female (Radio Button), Address, City
(drop down), Hobby (Check box), and having Submit
and Reset buttons.

(5+4+6)
7.
a) A TR geXC & GHRIAD 3R TAHRIHD T
fored |
b) femferRa arferer s @ forv Tadivage
(HTML) BTS fore |
VA TR N @ M TR
SITHT TR
14854 Marudhar Express | 5:30AM | 5:45AM
16381 Guwahati Express | 6:50AM | 7:15AM
19877 Chennai Express 8:00AM | 8:30AM

c) faf= s—omd died @1 &7

5|Page
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a) Write positive and negative impact of the
Internet on society.
b) Write a HTML code to create a following table:

Train Number Train Name Timing
Arrival Departure
14854 |Marudhar Express| 5:30AM 5:45AM
16381 |Guwahati Express| 6:50AM 7:15AM
19877 Chennai Express 8:00AM 8:30AM
c) What are the various E-commerce Models?
(5+5+5)
8. .
a) 39T Ufh@ e w1 2?7 SHPT U SeTexv & q1d
HLAN |

b) TACIUATA (HTML) ¥ feiRad wARic 99

XYZ Public School
Indipuram, Amrawati, Hyderabad

About
Organisation
Corporate
Contact Us
Search
c)  UIRWING I PHANCId RfST B FHeM |
a) What is Email Encryption? Also, explain with an
example.
b) Create following frameset in HTML:
XYZ Public School
Indipuram, Amrawati, Hyderabad
About
Organisation
Corporate
Contact Us
Search
C) Explain the term collaborative computing.
(6+4+5)
9. “=forRgd TR ® Sregi BT FHSIN
a)  UBheleRs (FDDI)
b) FelgC Ao Aisd
c) INEEI
Explain the following terms:
a) FDDI
b) Client Server Model
c) Firewall
(5+5+5)
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